

$$\begin{aligned}
 y &= (a_0 - n + 1)y^n + (a_1 n + 2) y^{n+1} + a_2 y^{n+2} \\
 0 &= x y^{n+2} + (2n+2) y^{n+1} + a_2 y^{n+2} \\
 0 &= x y^{n+2} + (2n+2) y^{n+1} + (n+1) y^n \\
 &\quad x y^{n+2} + (2n+2) x y^{n+1} + (n+1) y^n = 0
 \end{aligned}$$

$$= u^n v' + n u^{n-1} v'$$

$$= -y^{n+1} (2x+1) - 2n y^n$$

$$w^n = -y^{n+1} (2x+1) - 2n y^n$$

$$\text{Let } w = -2y$$

$$u = y$$

$$v = -2$$

$$u^n = y^n$$

$$v' = 0$$

$$w^n = u^n v' + n u^{n-1} v'$$

$$w^n = -2y^n$$

$$\therefore y^{n+2} - (2x+1)y^{n+1} - 2ny^n - 2y^n = 0$$

$$y^{n+2} = (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{(n+1)} + (2n+2)y^n$$

$$y^{n+2} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

2 Using the Leibnitz theorem give that

$$y = x^5 e^{4x}$$

$$\text{Let } y = e^{(2x+1)} e^{x^2+x}$$

$$y' = \frac{d}{dx} e^{(2x+1)} e^{x^2+x} = y''$$

Since  $y' = (2x+1) e^{x^2+x}$

$$\frac{d^2 y}{dx^2} = y'' = v \frac{d^n}{dx} + u \frac{dv}{dx}$$

$$= 2(e^{x^2+x}) + 2x+1 (2x+1) e^{x^2+x}$$

Since  $y = e^{x^2+x}$

$$y' = (2x+1) e^{x^2+x}$$

$$y'' = 2(y) + (2x+1)(y')$$

$$y'' = y'(2x+1) + 2y$$

b) Hence prove that

$$y^{(n+2)} = (2x+1) y^{(n+1)} + 2(2x+1) y^n$$

$$y'' = y'(2x+1) + 2y$$

$$y'' - y'(2x+1) - 2y = 0$$

using Leibnitz theorem

Let  $w = y''$

$$u = y''$$

$$u^n = y^{n+2}$$

$$u^1 = y^{n+2}$$

$$\text{Let } w = y'(2x+1)$$

$= (2x+1)y^{(n+1)} + 2(n+1)y^n$

$\textcircled{1} \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$   
 $x^2 y'' + x y' + y = 0$

Let  $w = x^2 y''$   
 $u = y'$                        $v = x^2$   
 $u^n = y^{n+2}$                  $v' = 2x$   
                                       $v'' = 2$   
                                       $v''' = 0$

$w^n = u^n v^0 + n x^{n-1} v' + \frac{n(n-1)}{2!} v'^{n-2} v'' + \frac{n(n-1)(n-2)}{3!} u^{n-3} v''' + 0$   
 $= y^{n+2} x^2 + n y^{n+1} (2x) + \frac{n(n-1)}{2} y^n (2) + 0$

$w^n = y^{n+2} x^2 + 2x n y^{n+1} + n(n-1) y^n$

$$y^{n+2} - (2x+1)y^{n+1} - 2ny^n - 2y^n = 0$$

$$y^{n+2} = (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + (2n+2)y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n+1)y^n$$

the Leibniz theorem gives that